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Question Shuffling Allowed : Yes
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Probability sampling is otherwise called :

T 9iaeel &l AT ol 2

Options:
Multiple choice

% qgfdhcdly =g

Uni-variate _.i"uml}'s.iz

THI-af¥ue fageram
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Random Sampli.ng
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A Research Report is a formal statementof .............___.

TH I RO ., T Teh UG (G0N0 B |
Options:

Rezearch Process

| AT Uiha

Research Problem

5 # STAE A

Data collection

3. % :H.I-"]"El '\_:l.__.]. EI:I



Data Editing

4 W \_.E L' '\_;ié-é.:"
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is not covered under Intellectual Property Rights ?

fa=fafiaa § 9 & difge duer AfTent & Iiaid Jafamar g ?
Options:
Copvrights

;. & PIURIEC

Patents

> % dcc

Trademarks

r

o W 5:1‘5 [

Thesaurus

. forefey
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A bar chart or graph which shows the frequency of occurrence of each value of
the variable which is being analysed is termed as :

T TIT‘r AT UTH Wl IN o Ul HIF hi U & Dl Erll"ﬂl"‘l G CEEI] Er SEED
a9yl fohd _"IT?TE'TE’ Pl HEl I ?T.
Options:

Bar chart

| % W9 AT & w9 H

Histogram
5 Hifeirias & wU H

Candle stick
3 % Do Ne® & w0 4



Tabulation
4% R & w9 H
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The depth of research can be judged by :

Ul BT TES BT IASTAT SUY oAl ol Gehel 2

Options:
Title of the research work

% UE B B NS

Objective of research

o o T @ T

Total expenditure of research

- x I BT B T

Duration of research

4 % T @I 3@ty
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The mean of a set scores is 50 and standard dewviation is 10. If the score of each

student is doubled the new median will be -

=T AHI B AeF 50 8 AT AFF FEed 10 £ 1 AT USE B B APl B Gl
& {591 oirg, 93 AT

Options:
Remain unchanged

| RS v

Increase by double
2. '\‘?’? E: g—l_l—ér E"\-ljﬁ

Decrease by half
5 % T HH BFA



Become equal to the mean

4 % T F AER EE
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is net a type ot research question ?
=1 § 9§ B U U2 &1 UBN T8l 7

Options:
Predicting an outcome

% ORUTH @1 Afasgari

Evaluating a phenomenon

o % Tl B Hegldh

Developing good practice

5 % IS URAT BT IG1I

A hvpothesis
4 TP TRHTA
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

All of the following are types of non-probability sampling techniques except :
e # 9 9 IN-uifiredr ufaeel daqle @ JaN & g9

Options:
Purp os1ve samp ling

| w AT AfaSE ®

Snowball sampling

o % VATl gfee @

Convenience Eampli:ng

5 % giaar ufoee &



Random Eamp]_mg

4. diglzgdy Mldg=l @
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
To test null hypothesis, a researcher does nof use :
T YRNEHT & WAV HRA 8g SJEaHdHal 7 § 9 fhesr 9ar 98 s 8 ?
Options:
Chi-square test

s DTS-I TRIETTT

1.

t-test
o % CIOVIE

ANOVA
3 % T

Factorial analysis

4 AT fagero]
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

P-alue stands for -

Tlo Ho& &1 AU 2

Options:
Probability value

1.Jmﬁﬂww

Preference value

E_Qaﬂ?ﬁﬂﬂw

Pre-determined value

_ Ja-T-i¥aa 7Jed



Prescribed value

L% BENECE &

Question Number : 11 Question Id : 7622113411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In the process of conducting research "Formulation of Hypothesis” is followed
by :
FTHET B DI UlhAT H “URSBTAT & AP & g a1 HIar B :

Options:
Statement of Objectives

| w 9aazdl T faaee
Analysis of Data
o w dids BT fwer

Selection of Research Tools

o o ATHET AEET BT T8

Collection of Data

, & SNPS T HIE
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Longitudinal studies of cohort groups .........._. ]
S TRl BT AFas AT €

Options:
Study the same people over time

| % BY FHI W Uh B AN BT T

Use panel members as particip ants

o x AFER & W0 § U Haei &1 STar

Study attitudes at a single point in time

3 % TP I W GCHIT B Fena




Use different participants for each sequenced measurement

L  TI® STHHAT AT 7 A= AFERT B ST
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

A deductive theory is one that :

! - [ i

e g ©

Options:
Allows theory to emerge out of the data
| % Sl RIgid & Siids A o~ 8 o @

Involves testing an explicitly defined hypothesis

o o TSTH RO AT GRAITT IRGCIT BT TR Wi 8

Allows for findings to feed back into the stock of knowledge
5 % [OTIPT SETY g §M & H9g H ufayfic &g ey g

Uses qualitative methods whenever possible
4 % Ol ofd 01 9T B [UIAS TGd BT HANT Bl ©
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Meta data is the data that :
ATl ST 98 SIeT & ol

Options:
Distribute other data

% o4 SICT &l dicdl 8

1

Collect other data
5 % I STCT BT THT BT

Describes the other data
5 « SICT &I Fadr &

Destroy the data
4 % SICI @ & Sl 8
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

FEandomization iz done to :
i Sh
ATGEFHIHIVT Bl ATl 2

Options:
Increase bias

| % IFART B1 9@ & ferg

Reduce bias

o  SAAT @ HH B T ferg

For making hypothesis

3 % UREAT TR & oy

To increase drug efficacy

4 % S e B S & fov
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Data is represented in form of notes, recordings and video tapes in :

ATpel I Alc, ¥PHIeT Ud difedicd & w9 § fAwud f&ear o g

Options:
Qualitative Research

| o TS IFTHE H

Quantitative Research

o s WRATIIES JTHE H

Experimental Research

5 % TARTICHG e H

Descriptive Resea rch

4 % dUHTCH® SFTHET H
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question



Grounded theory is often used in formulation of :
qTSSS LRI & G4 gfaured H agen fhan wrdn 2
Options:

Policies and Programme evaluation research

| o N Ud BRISH Jedih STJHaH &

Opportunity for exploring the facts

o % T BT UAT T TG JTH S

Categorizing data

o R

Understanding the culture

4_%% P GHSH B
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Read the statement A and B and choose the correct option :

BT $ Td G BT Iy 7241 el fabeq gy

Statement A : Variables can be manipulated, controlled or observed by the
experimenter.

FYT F : TN DI TAFTHGT 59T B H amEn, FEEa o sadifead fRar 9 9dar 2 |

Statement B : Variables are not related to theoretical concepts.
HYT | : W AGIAd Faurons | Hafed Tl €|
Options:

Both the statements are true

, % T I TG €

Statement A is true but B is false
o  PIT B T ¢ fbeg P & 9T 2

Both the statements are false

o % G DU IEA T

Statement A is false but B is true

4 % DIT B GG ¢ fbg HUH G A 2
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not a category of legal research ?
Tfaad # HE-A1 AfdE o 3 G0 # A% A 57

Options:
a parasitic discipline of law
| o TEEE T @ ET A

a practical discipline of law
o % AN 9 T =T H

an aspect of the humanities
¢ HFEEH] & U U b =9 H

=

an aspect of social sciences
4% HHIE 95 & 95 & =9 H
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Rejection of null hypothesis when it is true is called :
9 B8 ®i [Refa ¥ 990 dN&Gog=T &l 3 -:_F»r’;d T FHEAal & 7

Options:
Type Il error

, % c8u IMFfe

Type Ierror
o o C -qE - Ia—ﬁr

Sampling error

.y TR 3

Standard error

4 % AF® e
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



In a research study one of the variables selected was (students’) parents’
occupation such as business, farming, service etc. What level of measurement is
this ?

"HTHI HEIE H FAMG U 9 J1a1-0dT $1 dErd oY IR, Wdl, 9al gy |

Options:
Nominal

T

T

"

Ordinal
2. W a ] H Qﬂ- a ':-] ]

Interval

H-aO¥l ¢
o R

Ratio
4 % I3
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is standard error ?
Options:

Standard deviation of the sampling distribution of a statistic
. A=y & giaeyl g & J1d a9

Modal error value of the standard range of a statistic
5 % WIRGHT & JH® 4ol & HJisd Jic A

Error in the calculation of standard deviation of a statistic
o x QO™ @ A e @ T H Ffe

Standardized statistic to minimize error

4 % 3C PP I & [0 ADIFT HiDEI



Question Number : 23 Question Id : 7622113423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is helptul in determining sample size ?
UfASel TR & MR & § 94 ¥ 9 &4 9896 & 7

Options:
Ruszell 2000 index
| w <H 2000 FABID
Cochran's formula
HIhv &I -9
o o

Tussad's formula

o x Qg @

Spearman's formula
4 % TIHT w1

Question Number : 24 Question Id : 7622113424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following is not true about the case study method ?
‘FTH AFEE A AR H Ffanad # " #9998 57
Options:

It is an expensive method of research

There are many chances of making errors

fe 8M & 9gd d49/EA1 =2l B

=]
-

[t is mainly qualitative in nature
% 5 FEATAT OHE BT B

It is quantitative in nature

4Ju:mm—qtrnrumml 5
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Read statement A and B and Choose the correct option :

BT & Ud @ BT UgU TUT Wel fadded &1 FA1d PIfeIT :

Statement A : The Latin square design has an advantage over randomized block
design because it is possible to control the effects of two secondary variables.

YT & : olfcd EEER fSuE agfes o fsusd 9 s ameEds & @il
Tg g1 T =R F UHE BT EEd $ H W 2

Statement B : A 2 x 2 x 2 factorial design has six independent variables.
YT G : U 2x 2 x 2 HHMG feus- 4 B8 Wad =@ 8 2 |

Options:
Both A and B are true

lgmqﬁaaﬁrw%

A is true and B is false
5 @ P AT T A W FEA T

Both A and B are false
5 % & Ud & Al o ©

A is false but B is true
4 % P I € AP @ WA @

Question Number : 26 Question Id : 7622113426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple CThoice Cuestion
A researcher is invstigating teacher's attitude towards year-round schooling. She

is particularly interested in describing the attitude of teachers from small,
medium, and large schools. Which sampling procedure should be used by her to
ensure her sample is representative of these types of schools ?
U AJHUMEHT g4 WY el @& Ul HeATUS & AAgRT Bl AU HR I8 2| 98
B, T dAT g5 Wholl H el © AAgRy & < § 99w &y ¥ foo=al o
el gfcifeeg & HJd ?
Options:

Cluster

1 % qE

Quota
2 % ®IC



Systematic

3 % \‘\_.- Ol ¢

Stratified
4 v WG
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following tvpe of research focuses on amending the prevailing
situations ?

=1 9 9 {59 IR &1 FgHu A RIfadr o1 Gune iR Saiad e g 7
Options:

Action research
| o SPATAE STFxEr

Experimental research
o % WATTICHE e

Fundamental research

= ® ﬂ: 1:" EHTTETH

Conclusive research

, x (ORI ST
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If there are eight categories or classes in a goodness of fit test, what will be the
degree of freedom ?

i [e9 A e <% d e &l O & €, a1 W=y ®ifc @1 B8R 2

Options:

1.*8

7

e



Cannot tell on the basis of the information given
4 % &8 T FHGR & AER O 94197 e S qehal g
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Qualitative research helps in collecting data under more ..........._. situations.

qUITCHS STJHE b fRerferal 3 Siferel Uiz R H Weradl &Yl ¢ |

Options:
Normal

1. % Lo

Natural

5 -\‘;,’? ﬂ E]:S E‘_ 'E:I:S

Experimental
5 % HANTTA®

Artificial
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Read statement A and B and choose the correct option :

YT B Ud @ F IigU TAUT Wl faded vy

Statement A : A case study can be used only in clinical psychology.
YT B : 71 AT (BH ITSI) BT WA hael faer-iad AT H fHar &1 |l
=4

Statement B : The approach of case study is based on the artificial atmosphere.
YT G : g1 AT (W ¥CSl) B glehv HiEH JRe IR A= 2 |
Options:
Both A and B are true
, % U @ EH U

Statement A is true and but B is false

o % DY P U B b O HEA &




Both A and B are false

Statement A is false but B is true
4 % BT P A ¢ olfh] & §F ©
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which tvpe of research focus on what will be ?

fehe UehTY 1 STTHI &1 BT R BIdd Hecl 8 7

Options:
Experimental

1, o TS

Case study

, % 99 A (P ITH)

Survey

5 % Hae

Ex-post facto
4 % q9 T

Question Number : 32 Question Id : 7622113432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the following should be up to date, complete and affordable for proper

sampling ?

=1 3 9§ ®F Sfag dfaey 2q sterdd, QUi 91 §9a 2 =@1iey ?
Options:
Sampling technique

| x TRE" TE

Sample frame

2_‘&? HE'H\ ;*T‘El-



Reszpondents

5 x AR @ A

Tools for data collection

4%31‘#@@3?@@%
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What is a research design ?
ATHI e F 7

Options:
A way of conducting research that is not grounded in theory

1%a§ﬂmﬂﬁﬂﬂﬁ‘ﬂ1ﬁﬁ@ﬁﬁmﬁﬁﬂﬁg

The choice between using qualitative or quantitative methods

o % TS T4 ORHETUTCHS Tgiadl &1 TR $HY- & 9" faded

The style in which you present your research findings, e. g. a graph

5 % Joit fSTEH 31T SIT e e sieid T BT Igd BYd ©

A framework for every stage of the collection and analysis of data

4 o ATBST & AT T HIE & FAD YA TG Il
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

It a study is "reliable”, this means that :
Ofe gy fdgaa-my é’ s Hod g b

Options:
It was conducted by a reputed researcher who can be trusted

IE Hidfted SHeGal g &1 Widl 2 o WX faward fear o ¥aar €

1 &

The measures devised for concepts are stable on ditferent occasions

, o SRS o Bferd Surr fafi= sraest w Rer 2@ @



The findings can be generalized to other social settings
o [TSRY DI 3 WAME TR & fu aeriigd fBar o wear 2

=3
The methods are stated clearlv enough tor the research to be replicated
A% I B ufadfa {6 o 2q usfaal o1 W w | udid qardr 147 2
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Ethical norms in research does nof involve guidelines for which of the following ?
ST J Aifquwes JE J e H fege fou feen-fae wide 98 @ ?

Options:

Thesis Format

L  JE HaE U

Copvright
o % PHNIEC

Patenting policy

5 % NoC

Data sharing policy

4 % \_,E [_,l \]\*-l-q“] ;” k
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

_________________ is not a source of Hypothesis.

_____________________ NI &1 Udh Hid 7&f 2 |
Options:
Intuition
. % Heul H[E
Knowledge

2IWEI'I_"T



Energy
3 '\‘:5? '-.?_. ATl

Theorvy

|

4 % 194
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following variables cannot be expressed in quantitative terms ?
Frefeiad 4 | (59 =R @1 AEHS sl 4 ad el fhdl ol dadl 8 7

Options:
Socio-economic status

| % HITSTS I Rerfd

Marital status

, x AT Refa

Numerical aptitude

2 arE el iR i

Professional aptitude

L % TIER AR
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is not a citation style ?
faefefag § 9 o9 s 3= faf 98f 2 ?

Options:
APA.

1@?0&[0:{0

MLA.
- UHo Uelo To



Chicago

b

5 % 1

Ohio

4 )
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the following is not a defining characteristics of non-doctrinal research ?
frfefaa & & = fe-Haifas ol @ afveias @ 981 & 7
Options:

It is organized around legal principles and appellate court decisions.

= S

o5 fattes =t 3T AJAUeE SJEed & Al @ =9l aiw

It puts lesser emphasis upon doctrines.
, x T8 MmOl 9T HH 9o Gl B |

It seeks to answer broader and numerous questions.
, » 97 378 UFG S UL & ITY WA BB HIAT F |

It may involve the use of research tcn:r]s. and perspectives not pecu]mr to law.
SHH UHT 90e A AN GChvT Tgad 81 ol 5 511 Hdal did 96

4 % HITAT B B E |
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not true about positivism ?

frefafaa § 9 & vemefare (@fsfefes) & ddg § a2 78 2 ?

Options:

It is associated with Auguste Comte

| % TE I B B AT JST &

It denies metaphysical speculation

> % U ToauIHIGD ChHAdToll B gae dYdl @




It emphasises on objectivity

L % € IRGMSAT W WR < @

It iz a method used in qualitative rezearch

» IF U faftr & e war e e H Ear 8
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Question Number : 41 Question Id : 7622113441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Variations dxu'mg mutations of meiotic recombination are -

Options:
L random and directionless

- % random and directional

2 % random and small

4 % random, small and directional

Question Number : 42 Question Id : 7622113442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The membrane attack complex in the complement pathway consists of :

Options:
, % C3b3b, Bb



5 of C5b,6,7,8,9
= % Colicins

, % Properdin

Question Number : 43 Question Id : 7622113443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the following genera synthesizes Nod factors in order to activate a
plant to allow development of an infection thread ?

Options:

| = Agrobacterium

- u Escherichia

5 % Pseudomonas

4 Rhizobium

Question Number : 44 Question Id : 7622113444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question
1

If the concentration of glucose (CgH;:04) in blood is 0.9 g L °, what will be the

molarity of glucose in blood ?

Options:
. % BM

Question Number : 45 Question Id : 7622113445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Bacteriophage A :

Options:



, % s an obligate bacterial parasite
o R Can enter a lytic pathway

3 % Forms prnphage in integrated state

4 All of the above

Question Number : 46 Question Id : 7622113446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

You are given to make a butfer of pH 7.0 which of the following is most suitable ?

Options:
| & Phosphate

o R Acetate

. « HCl

, % NaOH

Question Number : 47 Question Id : 7622113447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Km of an enzyme A and enzyme B are x and 2x respectively, concentration of

substrate required to achieve E‘Jnmx of the enzyme B will be :

Options:
twice the concentration of substrate of enzyme A required to achieve

4 Vmax
1. ¢ 2

Half the concentration of substrate of enzyme A required to achieve

. %Vmﬂx
2. =

Equal to the concentration of substrate of enzyme A required to achieve

. %Vmax
=] <

% There is no correlation betwveen Km and Vmax



Question Number : 48 Question Id : 7622113448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

In a non-reducing SDS PAGE a protein showed molecular weight of 25kDa.
While same protein in gel filtration chromatography showed molecular weight
of 100kDa. What is vour interpretation ?
Options:

Protein is made up of non-covalently attached 4 subunits and each subunit is
1 « of 25kDa

Protein is made up of 4 subunits attached by disulphide bonds and each
5 % subunit has molecular mass of 25kDa

2 ® Protein has mass of 100kDa and no subunits are present

L% Protein has mass 25kDa

Question Number : 49 Question Id : 7622113449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Enzyme Linked Immunosorbant Assay is a technique which is used to :

Options:
L Quantitate hormones

5 % Localize protein in a cell

2 % Count cells

4% To purify a protein

Question Number : 50 Question Id : 7622113450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label | Multiple Choice Guestion

In an agarose gel electrophoresis, choose the right order of sequence according to
fast mobility :

Options:

| % Methylene blue, 3kb linear DNA, 3kb circular DNA



> % Okb linear DNA, Methylene blue, 3kb circular DNA
2 o Methylene blue, 3kb circular DNA, 3kb linear DNA

4 % 3kb circular DNA, 3kb linear DNA, Methylene blue

Question Number : 51 Question Id : 7622113451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which one the following is RNase inhibitor ?

Options:
| Diethvlpyrocarbonate

> % Phenylmethyl sultonyl fluoride

- % Vanadate

4 % Streptomycin

Question Number : 52 Question Id : 7622113452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

DAPI is a stain which normally used in :

Options:
1 Fluorescence microscopy to stain nucleus

5 % Fluorescence microscopy to stain cytosol

= ® Simple microscopy to stain cytosol

4 ® Electron MIiCTrosCopy

Question Number : 53 Question Id : 7622113453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which of the following is related to monoclonal antibody ?

Options:
, % Hela Cells



5 % Red blood cells

2 ® Platelets

4 Hybridoma cells

Question Number : 54 Question Id : 7622113454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Marker enzyme of mitochondria is

Options:
Y, succinate dehydra:-genme

> % hexokinase

2 ® glucose-6-phosphatase

4 ® Fumarate dehydrogenase

Question Number : 55 Question Id : 7622113455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

In a thermocycler correct sequence of processes are repeated in polymerase chain
reaction is :

Options:
1 Denaturation, annealing, extension

5 R Annealing, denaturation, extension

3 % Extension, denaturation, m*mea]i_ng

4 % Denaturation, extension, EL‘L‘LI‘LE'Eﬂi:L'Lg

Question Number : 56 Question Id : 7622113456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Name the way to visualize backbone dihedral angles y against ¢ of amino acid
residues in protein structure :

Options:



| & Ramachandran plot

> u Hydropathy plot

" Zimmermann-Simha plot

4 % Lineweaver-Burke plot

Question Number : 57 Question Id : 7622113457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

All the following are storage polyvsaccharides except :

Options:

| % Starch

o \_j,eCElll_‘LlDEE'
2 % Glycogen

4 % Dextran

Question Number : 58 Question Id : 7622113458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Of the following, the best evidence that the interaction between a protein and
nucleic acid in a particular complex is hydrophobic it the complex is dissociated
by :

Options:

, % High salt

- % Ireatment with a nuclease

5 % Traeatment with a prnteaae

4 Organic solvents

Question Number : 59 Question Id : 7622113459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

Circular Dichroism (CD) measures the difference between :

Options:
| % The abzorption of left and right handed plane polarized light

5 % The absorption of left and right handed polarized light
- % Iheabsorption of left and right handed light

4 + The absorption of left and right handed circularly polarized light

Question Number : 60 Question Id : 7622113460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The model organizsm to study cell lineage is :
Options:

Caenorhabditis elegans
1. % 2

> % Yeast

_— Drosophila

4 Xenopus

Question Number : 61 Question Id : 7622113461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which one of the following modifications is comumon to both protein and DNA ?
Options:

| % Sumovylation

- % Nitrosylation

5 Methvlation

, % Ubiquitination



Question Number : 62 Question Id : 7622113462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following functions is NOT served by the plasma proteins ?

Options:

| % Blood clotting

o o O:> transport
- x Hormone binding and transport

4 % Buffering capacity of blood

Question Number : 63 Question Id : 7622113463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Transmitters are inactivated at synapse by all of the following mechanisms
EXCEPT :

Options:

| % Diffusion out of the synaptic gap

o ® Re-uptake by the presynaptic terminal
3 Uptake by astrocytes that ensheath the synapse

4 ® Uptake by oligodendrocytes

Question Number : 64 Question Id : 7622113464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which structure is involved in processing of emotional content ot the incoming
stimulus ?

Options:
. Amygdala

5 % Hippocampus

s % C erebellum



4 % Medulla Oblangata

Question Number : 65 Question Id : 7622113465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

A chromosome aberration leads to change in the order of genes in a genetic map
does not alter its linkage group. This is due to:

Options:

1% Translocation

- Recombination
5 % lransposition

4 Inversion

Question Number : 66 Question Id : 7622113466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

The eftfect of nonsense mutation could be nullified by reversion as well as
suppression. Which of the following processes will help to distinguish the two
kinds of revertants ?

Options:

| % Cnmplementatia:m

- Transgenesis

Test for allelism
3 ®

4 Recombination

Question Number : 67 Question Id : 7622113467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

How many linkage groups are found in human male ?

Options:

2 |
w23



2,
3 v 2

A
4 % =

Question Number : 68 Question Id : 7622113468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

For identification of three proteins moving together (as a single band) upon
loading in a single lane of a SD5-PAGE gel, the best method is:

Options:

| % One step Western blot

-~ % NMR spectroscopy
2 Western blot followed by stripping and reprobing

4 % ESR spectroscopy

Question Number : 69 Question Id : 7622113469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The electro spray ionization spectrum of a highly purified protein shows
multiple closely spaced peaks. This most likely arises due to:

Options:
| ® Degradation of protein during recording of the spectrum

5 % The presence of multiple conformations
3 Multiple charged species of the protein

4 ® Extensive aggregation of the protein

Question Number : 70 Question Id : 7622113470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Changes in the protein conformation can be detected by :

Options:



, w Ultraviolet absorption spectroscopy
- % Fluorescent emission
-  Circular dichroism

4 % All of the three

Question Number : 71 Question Id : 7622113471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Flow cytometer is used to measure the number of :
Options:
1 « Cells

, % DNA
o » RNA

4 % Proteins

Question Number : 72 Question Id : 7622113472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Two purified DNA samples A and B contain equal number of base pairs. Each of
these DNA sample has one side each for EcoRI and BamHI restriction enzymes.
Complete digestion with both the enzymes vielded 3 DNA and 2 DNA bands
respectively for A and B upon electrophoresis of the digestion products. Which
one of the following explains the observations ?

Options:

| % A is circular DNA and B is linear

o o B is circular DNA and A is linear

5 ® A is circular DNA and B could be linear or circular

4, % Biscircular DNA and A could be linear or circular

Question Number : 73 Question Id : 7622113473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The basis for blue-white screening with pUC vectors is :

Options:
| Intra-allelic complementation

5 ® Inter-genic complementation

2 % Intra-genic suppression

4 % E}Ctl'ﬂ—gl':"ﬂl{ IUppression

Question Number : 74 Question Id : 7622113474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which among the following is the simplest method to estimate the concentration

of glyvcerol in an aqueous solution of glycerol ?

Options:
| % Uv abzurpticm spectroscopy

5 % Gas chromatography
2 % pH measurement

4 Viscosity measurement

Question Number : 75 Question Id : 7622113475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

A rat liver extract is treated with avidin. Which of the following conversion in
gluconeogenesis will not occur ?

Options:
, % Glyceraldehyde 3-P into glucose 6-P

> % Malate into Oxaloacetate
2 o Pyruvate into phosphoenolpyruvate

, % Fumarate into phosphoenolpyruvate



Question Number : 76 Question Id : 7622113476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Why does the glycolytic pathway continue in the direction of glucose
catabolism ?
Options:

There are essentially three irreversible reactions that act as the driving force
,  for the pathway.

High levels of ATP keep the pathway going in a forward direction.
2 ¥ g2
2 % The enzymes of glycolysis only function in one direction.

4% Glyeolysis occurs in either direction.

Question Number : 77 Question Id : 7622113477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Which of the tollowing white blood cells act as scavengers when they engulf and
digest pathogens ?

Options:

. Macrophages

> % T cells
5 % Bcells

4 % Lymphocytes

Question Number : 78 Question Id : 7622113478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Basal ganglia associated with which disease ?

Options:
Y, Parkinson's disease

> % Alzheimer's disease



5 % Motor neuron dizease

4 % Gl‘_t;cc:gﬂl storage disease

Question Number : 79 Question Id : 7622113479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Visual information is analyzed and received by

Options:
; % Frontal lobe

> % Parietal lobe

3 Occipital lobe

4 % lemporal lobe

Question Number : 80 Question Id : 7622113480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Beta amyloid fibres are seen in :

Options:
| % Parkinson's disease

o Alzheimer's disease

5 % Motor neuron disease

. Glvcogen storape disease
4 b b B o
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following sequence is substrate for purine biosynthesis ?

Options:
| PRPP (5- phosphoribosyl pyrophosphate)

o % Ribose phosphate



= W Ara—c

4 % O-methyl thymidine

Question Number : 82 Question Id : 7622113482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

All of the following enzymes are involved in DNA replication except:

Options:
| ® DNA polyvmerase

5 % Helicase

z RNA polymerase

4 % Primase

Question Number : 83 Question Id : 7622113483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The DNA chain acting as template tor RNA synthesis has AGCTTCGAT order of
bases. What will be the order of bases in mRNA ?

Options:

; ® TCGAAGCTA

, % UGCUAGCTA

- » TCGAUCGUA

4 UCGAAGCUA
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

The complementarity determining regions in antibody :

Options:

_are restricted to light chains
1. % .



o % are at the hinge region

5 areat the C-terminal end of the Ig peptide chains

are concerned in a:ntigen IE‘fDB’l‘EiﬁDl‘l
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Depolymerization of microtubules is inhibited by :

Options:
| ® Vimentin

o o Guanosine triphns.phate
5 % Dynein

4% Kinesin
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Enzymes used for degradation of RNA in RNA : DNA hybrid :

Options:
| % FMNAze A

o o RNA=e H

5 % DNAse

4 % RNAse V1
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Linker/adapter is helpful for the :

Options:



| % Vector synthesis

5 % Insert synthesis

2 Restriction site generatinn

% Polymerase activity
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Correct Marks: 3 WrongMarks: 1

Cuestion Label : Multiple Choice Guestion

Super-coiled plasmid DNA can be converted into relaxed plasmid with the help

of :
Options:

, % DNA gyrase

5 % Endonucleaze

_ Licase
i’ [ ]

Topoisomerase
40 F

Question Number : 89 Question Id : 7622113489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Tetracvcline blocks protein synthesis by :

Options:

| % Inhibiting initiation of translation

o Inhibiting binding of aminoacyl t-RNA to ribosome

- % Inhibiting translocase enzyme

L% Inhibiting peptidyl transferase

Question Number : 90 Question Id : 7622113490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion



Which of the following combinations generate increased T-cell receptor
diversity ?

Options:

| « VDD]J recombination

> % VD] recombination
5 % VDDJ] recombination

4 % V] recombination
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The meaning of palindrome is :

Options:
| ® Specific RINA sequences required for splicing

5 % Specific DNA sequences required for replication initiation
3 o DNA sequences which can be read forward and backward same

4 % SPECj_fic DNA sequences required for transcription
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Southern blotting used for :

Options:
| « Iransfer of DNA from agarose to membrane

o % Transfer of RINA from Agarose to membrane

o % Transfer of protein from Agarose to membrane

4 % Transfer of DNA from membrane to Agarose
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In SDS/PAGE role of SDS is to provide :
Options:
1 & Z‘Cegative r:harge to pmtei_ﬂ

5 ® Positive charge to protein

= % lon to buffer

4 % Negative charge to buffer
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SYBR green bind with :

Options:
; % Single stranded DNA

o o Double stranded DNA

- % OSingle Stranded RINA

, « All
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Edman degradation is used for :
Options:
1 % DNA sequencing

o % RNA sequencing

5 Peptide and protein sequencing

4 % Not associated with sequencing
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In eukaryotes translation is initiated by binding of ribosome to the :

Options:
; % Pribnows box

> % [FHognessbox

3 o S'cap

4 % Poly A tail
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The smooth ER is especially abundant in cells that synthesize extensive amounts
of :
Options:

| % Proteins

5 Lipids

Enzvimes
3 ® .

4 % Toxins
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Which of the following is true ?
Options:

| % A messenger RNA molecule has the form of a double helix

o o Ribosomes contain RINA nucleotides and proteins

The Uracil nucleotide consists of the uracil nitrogen base, a deoxyribose
o % Sugar and a phosphate group

In eukaryotes, DNA is manufactured in the nucleus and RNA is
4 ® manufactured in the cytoplasm
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Cuestion Label : Multiple Choice Question

Which of the following substances will not stimulate an immune response unless
they are bound to a larger molecule ?

Options:

| % Antigen

o R Virus

5 Hapten

4 ® Antibody
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Monoclonal antibodies recognize a single :

Options:

| ® Antigen

5 % Bacterium

2 ® Virus

4 Epitope



